
Revised on 7/23/15 - Corrected Quantities & Callouts

Madjax® Cargo Box : Club Car® Precedent®

1

2

12C

6

1111

10 9

8

7

12A

12E

12B

12E

12D

12B

12D

12E

12B

4

5

6

13

12D

12E

12D

12D

3

3D
3B

3A

3D

3C

12E

No. Part No. Description QTY No. Part No. Description QTY

1 Cargo Box - Steel 1 7 W01-8-5 Seat Back Support Bracket 1

Cargo Box - Aluminum 1 8 W04-3-3 Seat Back Bar 1

2 W04-1-2 Cargo Box Gate - Steel 9 W04-3-5 Seat Back Bracket - Right 1

W04-1-3 Cargo Box Gate - Aluminum 10 W04-3-4 Seat Back Bracket - Left 1

3 W04-1-1 Cargo Box Latch and Hardware 2 11 W01-1-6 Strut 2

3A Latch Handle 1 W04-3-6 Cargo Box Hardware Pack Precedent 1

3B Latch Handle Mount 1 12A M10x65 Hex Head Bolt 6

3C Latch Handle Catch 1 12B M10x45 Hex Head Bolt 6

3D M6x30 Machine Screw 3 12C M10x25 Hex Head Bolt 4

4 W04-3-1 Cargo Box Bracket 1 12D M10 Flat Washer 28

5 W04-3-2 Mounting Bracket 1 12E M10 Locking Nut 14

6 W04-3-7 Bagwell Bracket 2

MJCBB1000

1

1

12




